ERRAROBEERT — a4~

— XBISH—F

20195F4A6H (+) 2mpR#5H

BLYsw#itss G2 v5R4mte (ER # (50 RIE

‘ [R1%] & ‘ [REBE] — | Z (%) 16000 B

[A®4] 1 7% 55,000,000 @ 2 7 :22,000,000 @ 3 7&:14,000,000 0§

4 7% 18,300,000 . 5 7 5,500,000

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
3. B4 | JIEEHE 1:33.6 3-2 33.4(108.4| 4 446 | FRERE (ER)
115183V F—Fv—L 54.0 (=) o |BEADO=
LT =TA2NT N By T4 = re]
it 4 | WIHEE 1:33.7 2-2 33.6|106.7 | 12 | 462 |#EMH (ER)
21814 7XINT 4= b 54.0 1/2) oy | (B HAL-ZF-2
LBATATv— B:ITV—NAoxq HET77— L
3 SR o6 | JIBE= 1:33.7 5-4 33.3/107.3| 9 468 | BtET (BR)
31712 ST/ HT7V—F 54.0 (7€) 46 | EREET
L ZAFA4d=I K BNERXXT+—1— FHBESE
9 o6 | KB 1:33.7 1-1 33.7|106.1| 8 474 | KIRBBZ (R=)
al7111| ZA7FAA0O— 55.0 (74%) (o) | W) 8%
R:x>inMn— B:vVIHhYEIL—> KEaT 7 — L
< & EREH :33. - . . EHE— (ER)
5 SO0aZ37 B 6 e (173;77) 3-4 33.41107.3| 6 (4;8) i
LRFAT-E B:FYrayna N-Le
. 3 4 | M. FL-0O 1:33.7 5-6 33.2[107.4| 2 436 | BAEBE (FR)
6 hrz—EL 55.0 (742) (o) | BIIER
R:Fq—TAnNT N B:yvOut e
K 5 # 5 | dERKR— 1:33.7 11-10 33.0 | 107.5| 3 450 | BRREER (ER)
7 Ly RFILFH 54.0 (747%) © (#%) HAo LYoy
LiFA—TALNT N BTIUEET Y — =¥ Ty — L
e == it 4 | AiEIE 1:33. 9-7 33.2[106.2| 1 510 | MKER (FH)
3 TvXx—F14797 54.0 (%) ) | @ #rF-L-—v>y
R:ANTz—JI B:F14F7v AT RL—2X J =Y Tr—LI
s 4 | EPE 1:33.9 11-13 [ 32.8|105.3| 11 4064 | BEBE (FER)
9 Yh/TNFa—L 55.0 (3/4) () | R HhIk—zH8=—
L:Fq—TA2NT N BeT7 b TS
= 8 4 | HARR— 1:33.9 7-7 33.3[105.1| 5 442 | WEE (ER)
1001]1|%7%7 54.0 75%) o) | EREHDLY
R:F4—TA>NT b B:¥O3+ J—HrTr—LA
¢ = “ B4 | BKHE— :33.9 7-7 33.3|105.1| 10 | 456 |=TFRHM (BR)
5|7 ] VAT AN %0 ("$) Co) | ) AL A3
X THANKIN B RING LN HET7—L
S 5 B4 | PHHEZ 1:34.0 14-13  [33.0 | 104.1 | 14 | 480 |PAHEEE (ER)
12| 8 13| NIV—7i 54.0 (3/8) © |R 7rE-v>
Rixivth/xwF BTRIAYTA b J =¥ Ty — I
S S # 5 | BIUE—ER 1:34.1 9-10 33.31102.8| 13 | 454 |FBEMWS (RR)
13 9| *T>av+77 54.0 (7€) (-10) | TAALFIE
R:F4=TTUVI7 B:A14>a30vT3 =e)
. . % 6 | AL azlg 1:34.2 11-10 [ 33.4|101.6| 7 456 | EARE— (RR)
12| 7 h0 7> 54.0 (3/4) 4oy | BIE—
R:F4—=—TA>N7 b BT>HhF5y b HE77—L
@ 21 L
£y 45.7-33.6
Na>a24 L | 12.5-11.1-12.0-12.3-12.1-11.0-11.0-11.6
® I—F—@EBIERL
13—7-
23—7F—
33—+ — 11,14(5,8) (6,12) (1,7) (4,9) (2,3,10)13
43—7F— | 11(14,8) (5,12)6(1,4,7) (2,9,10) (3,13)
[ N5
B R 8 1,170 | | 71 K 8-14 5,750/ | | # = 5-8 10,320 | | 3=t | 8-12-14 149,940M
BB 8 730H 8-12 3,890 B E 8-14 26,7604 EE 8-14-12 727,770
14 1,920 12-14 5,880 B H 8-14 44,990M
12 1,230

ABICOVWTRDTEEERROODE. TR LIV,




